#2B PENALTY CUP t+ittyh—7xRT1IL

25 BfR | orm A —F % | BE -2
10:00 | [1] |[A1 FC7LRA 2-0 A2 ZRILF4—FK| wWkFC | WiFC
11:20 | [2] |a3 LfZFC 6-0 A4 ZI—YvBE[E | FCoLRA [ FCTLRA
’Xig\ 12:40 | [3] [B5 FC E’XITO 0-16 81 FCHRF |ri-vemm|ri-vvam
14:00 | [4]) |[B2 +£#3ESC 0-3 B3 FC*kiR FC E’XITO|FC E’XITO
3A296 (&) 15:20 | [5] |B4 FCHhH=r 7-0 B85 FC E’XITO | t#i&SC | £#i&SC
10:00 | [6] [B1I FCHX¥ -0 B2 +t£#4#i&SC FCKR | FCiR
11:20 | [7] |83 FC3¥R 0-1 B4 FCh%/ FCAXE | FCHYF
Z'(-j-‘;l/y_r‘):*’% 12:40 | [8) |[As 275758 2-0 Al FCI7LRA | FCh%t | FChEL
14:00 | [9] |A2 =K ILFT4—FK 0-0 A3 LZFC 75758 | 757 5%
15:20 | [10]|A4 ZL—YvB8@ 0-4 A5 757858 |zfus—F|ztrs—K
25 BfR | orw A —F % | BE -2
9:30 |[[11]|as 957 5% vs A3 WFC FC7L2A | FCLz
11:00 [[12]|A1 FC7LR#A vs A4 TI—I v | 75758 | 75758
;((z:{;? 12:30 [[13]|A2 THILT4—FK vs A5 I5TE5F |(7r-veaa|7i-vram
14:00 [[14]|B3 FC3¥R vs Bl FCHRE |zfns—#|zgns—x
38308 (%) 15:30 |[15]|B2  +t£43R&SC vs B4 FCh#f: FCRR | FCkiR
q9:30 |[16]|es FC E’XITO vs B3 FCXiR FCH®¥ | FCarw
11:00 [[17][B1 FCHX¥ vs B4 FC#h%Ef= [FC E'XITO|FC E'XITO
X/('J‘\g—l:{_fi\)'i% 12:30 |[18]|B2 £#i&SC vs B5 FC E’XITO | FCh*r- | FCh%1:
14:00 | [19]|A3 LZFC vs Al FC7LR7A | t#&sc | t4iksC
15:30 [[20]|A2 =HRILF4—FK vs A4 ZIL—IvEBEE| wiwrFc | WwiwFc
25 BFf [ e HEA—F % | BE -2
q:30 |[21] Al vs B2{iL A2fi A2fi
11:00 | [22] BIi vs A2 B21it B24it
’(‘zzfg‘ 12:30 | [23] A5 it vs B5{i Al | Al
14:00 | [24] AlfiL Vs Bl EeE | EEE
3A318(A) 15:30 | [25] A21iL Vs B21i B4 Bl
q9:30 |[26] A3fi vs B41i B3l B3
2R—wiig | 11:00|[27] B3 Vs A4fiL Ba4fir B4k
(7v-) 13:30 | [28] A4 Vs B4 i A3t A3t
15:00 | [29] A3fi vs B31i Abfi Abfi




Jav7 F— LAR A% ® 5

A7 vy FC7LRA |zHfL574—K| WHFC |70—-IvBA| 75755 ity h—29VT b (ALE)

B7mys | Fcae® | tsmsc | FCRR | FChsr |Fc exito| E7AMRIAR—YES (7L-)

A7avy7

No.| F—4% || FCILRA |ZHL74—FK| WHFC |7Lr—v+BR| 757585 (| B | o | & [ms|ms|xs| 5L mm

IFC7DX#J% © ® 1101 1]13(2|2]0

2 —lo| [-] = Jo -]
. . o A

2 | THRNF4—K % o1 1] 1]0|2]-2

0/ -2 o/ —o| [~ =
A @)

3 L FC 11110]4(6|0] 6
— Jo/-Jo % 6 —o| [—|

4 | 7n—YvEEE hd % hd 00| 20| 0]10]-10
= — |of-Ts 0|4

57-‘;7“52?0 © %2006606
2/—Jo] — — 4 -0

B7 oy’

No. | F—4L% FCH#X¥ | t4iaSC FCXKiR FCHh=7- |FC E'XITO| Bk | 9 | B |B=|Es] 5|5 @Gk

| | FCAR¥ % © © 2lo0]l0]|6[17]0]17

1 —lo| |- —| |6 —Jo

2| t#i&SC hd % ® o(o|2]|0]|0]|4]|-4
0/~ 1 o/ — 3| [~ =

3| FC¥%iR © % ® 1{of1]3[3]|1]2
— |s o o —|1] [~

4| FCh=7- O % O2006808
= = |1 o 17/-10

5 |FC E’XITO hd ® % 0[0|2]|0]0]23]|-23
o|—|16] — = Jol—-17




#2B PENALTY CUP t+ittyh—7xRT1IL

3RA318(R) IEL)—7

| ~445Y)— 2
F—46% | AL | A24L | BIfiL | B2 || B | % a Bim | JA | kR | FX | IRA
e | @
A2{i %
o1 2
oot @
5~8fL')—7
F—4L%B | ASfL | A4fiL | B3l | B4 || B | & a Ba | fBR | kR | /K| IR
A3fi %
A4fa %
oot 2
oot )

i b—F 4> b

[23]
12:30 R9Y 7L (ALE)

A5

B51i




